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Considering the following 4-fermi interaction
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Here suppose I';ogli+5 as 4 x 4 matrix with index ¢ and ad, i.e. ©ja5=(Oins)~s
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Therefore Tr(I';,I';) = 4¢;d; j, where
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Multiply I'; from right and take the trace

TI"(FiFlFiF = 742 /\zlkelTr(FkF = 7162 )\zlkelekék] = 716>\le€l€]

Therefore we obtain
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Define n(u,v; p,o) as a number of pairs between u,v and p, o
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ie., I,Ti=e¢; , then
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Therefore,
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Here (F)(F) means (&arr@/}b)(i/;crwd)
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Considering above
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Finally, if we define A;; by
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where A;=S(1), V() T(c7), A(v*45), P(7°)
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Likewise
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At top(anti-top) rest frame, suppose 7 (€) as unit vector of £ (¢) flight direction
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If you take the quantizing axis of top along with the lepton flight direction, i.e.

1+0-E:1+0-E:1+03:((2) 8)

Thus only

omor=(1)

allowed. This means top is polarized to ¢ flight direction and anti-top is polarized to opposite
direction of ¢ flight direction.
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